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(3 Hours) [ Total Marks : 100

N.B.: (1) Question No. 1 is compuisory.
(2) Answer any four out of remaining six questions.
(3) Assume any suitable data wherever required.

1. Answer the following questions :— _
(a) Compare common base, common collector and common emitter BJT amplifier. 5
(b) Derive the condition for zero temperature drift. biasing of FET, 5
(c) Draw the circuit diagram of voltage multiplier and explain its operation. 5
(d) Expiain Zener as Voltage Regulator. 5

2. (a) Draw the common emitter rx equivalent circuit of the BJT transistor with RE unbypassed 10
and drive the expression for the following .- ‘
(i) Input resistance
(iiy Output resistance
(i) Voltage gain.
(b) Derive the equations for Ay» Z;, Zy and determine A,, Z; and Z,, for a given network. 10
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3. "(a) Draw a circuit diagram of a fullwave rectifier with C filter. Derive expression for ripple 10
factor and aiso explain the basic rectifier operation.
(b) For the given circuit find = » ' 10
(i) Determing Z;, Z5 and A, no load ' ‘ ‘
(i) A, with load L
(iii) A
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4. Design a single stage CS JFET amplifier using potential divider biasing for the following 20
specification :— ) :

Vo =2V, f_ =20 Hz, ID = 3.3 + 0.6 mA
IA, I =11,  Use BFW 11 ' :
Calculate R;, R; and V, (max) for the designed ampilifier.

5. Design a single stage GE amplifier for voltage gain AV > 170, V, = 6V rms, 20
FL = 20 Hg, Sico > 10. ) . : ‘ :
Calculate'Z;, Z, and A, for the designed circuit.

Use a suitable transistor from the data sheet.

6. (a) Explain construction, working principle and characteristic of E MOSFET. 10
(b) Compare L and C Filter. ) ‘ 5
(c) Comapre MOSFET and FET. ’ ' ' 5



7. Write a short note on the following :—

(a) Schottky diode
(b) Diode clampmg circuits : Worklng and waveforms

(¢) Temperature effects in MOSFET
(d) Transistor as a switch.
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